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+1 for an Av equation and +1 if it is a function of Vo
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+0.5 per entry, within ~10-20% is fine, 1 sig fig is sufficient
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ns scale should be ~flat
us scale should look exponential and end at 0.63 of the final value
ms scale should look like a step
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+1 for approx as Ro=RL
+1 for some reasoning why
+2 for getting reasonably close to 10% error
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+1 for a gain equation
+1 for correct answer
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+2 for setting up equations for fp and fu
+1 for correct fp
+1 for correct fu
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1 sig fig, but answers should be exact
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+1 for Vdp equation
+1 for Idp equation setup
+1 for correct Vdp
+1 for correct Id (don't need 0.1uA accuracy)
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+2 for correct plot shape, axis
+2 for max current
+2 for min current
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+1 for equation to find Vi
+1 for Vi within 0.1 V
+1 for Idn curve
+1 for Idp curve
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+1 for equation to find Vi
+1 for Vi within 0.1 V
+1 for Idn curve (including finding the current at Vout = 0.2V)
+1 for Idp curve
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7 pts total
+1 nmos off and pmos off regions
+1 nmos triode (roughly quadratic)
+1 pmos triode (roughly quadratic)
+2 for the high gain start (x,y) points
+2 for the high gain end (x,y) points
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+1 for gain estimate within 20% of -65 V/V
+1 for range (to within 0.1 V is fine)
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+1 for gm,ro at high Vo
+1 for gain at high Vo
+1 for gm,ro at mid Vo
+1 for gain at mid Vo
+1 for gm,ro at low Vo
+1 for gain at low Vo
Fewer sig figs OK


HW3 grading rubric

1) 28 pts total

1a) 2

1b) 4

1c) 2

1d) 2

1e) 9 (0.5 for each entry in the table)
1f) 9, 1 for each plot

2) 8 pts total

2a) 2 pts

2b) 4 pts; 1 for right answer, 1 for some reasoning, 2 for error calc
2¢) 2 pts.

3) 4 pts, 2 for each frequency
4) 12 pts, 1 per blank

5) 33 pts total

5a) 4 pts

5b) 6 pts: 2 for plot, 2 each for min/max Idp

5c) 4 pts: 2 for Vi ; 2 for plot

5d) 4 pts: 2 for Vi ; 2 for plot

5e) 7 pts: 1 for "nmos off" region, 1 for pmos triode, 1 each for the

X and Y location of the beginning of high gain, 1 each for the X and Y
location of the end of high gain, 1 for nmos triode. The triode regions
should be vaguely quadratic, and the high gain region should be a straight
line.

5f) 2 pts

5g) 6 pts






